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Regents Chemistry

Unit 1 Review







1.  How many significant figures are there in each of the following values?

a.  6.07 x 10-15
   _3_____




b.  0.003840      __4____
c.  17.00   
  __4____


d.  8 x 108          __1____
e.  463.8052
   _7_____




2.  Use scientific notation to express the number 480 to 


a.  one significant figure
500

5 x102
b.  two significant figures
480

4.8 x 102
c.  three significant figures
480.

4.80 x 102
d.  four significant figures
480.0

4.800 x 102
3.  Evaluate the following  problems and answer to the proper number of significant figures. 
 a.  (6.404 x 2.91)/(18.7 – 17.1) 
11.647275    11.6
 b.  0.461728 + 14.91 + 0.980001 + 5.2631 =  

21.614829    21.61
  
c. (1.3) x (5.724) =

7.4412

  7.4
  
d.   (6.78 x 10-4)  x (1.4 x 102)=

0.09492

0.095             9.5 x 10- 2
4.  How many meters are in 2.7 km?
2.7km x 1000 m/1km=  2700m
5.  How many mm are in 0.001 km?

0.001km x 1000000mm/1km= 1000mm
6.  Convert 1067 cm to km?

1067cm x 1km/100000cm=0.01067km
7.  What temperature is indicated by the thermometers below?
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[image: image6.emf]a. 68.0º______




b.) __-3.0 º
8.  Determine the volume of the liquid in the graduated cylinder below.
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Volume = __56.0_______ mL
9.  What is the density of an object with a mass of 34 g and a volume of 13 cm3?  Remember your sig fig…..
D=m/v

2.6 g/cm3
10.  What is the density of an object with a volume of 106 ml and a mass of 44 g?
D=m/v


44g/106ml


0.42 g/ml
11.  What is the mass of an object with a volume of 58 cm3 and a density of 2.4 g/ml?

M=dxv


2.4g/ml  x 58 cm3

140g
12.  The table shows data collected on the pH level of an Adirondack lake from 1980 to 1996.
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Using the information in the data table, construct a line graph below.  Label the axes.  Mark an appropriate scale on the y-axis.  The scale has been started for you.  Plot the data from the data table.  Surround each point with a small circle and connect the points.
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16.  Convert 339 Kelvin to Celsius.  Remember to user your reference table.
339 °K -273= 66°C
17.  Convert 17 Celsius to Kelvin.  

17°C + 273= 290°K
